McCreary County Schools

Elementary NTI Packet

Grade Level: ”Q/ h émm/ C

School:

Student Name:

Teacher Name:




McCreary County Schools

Elementary NTI Packet

DAY 1

Student Name:




I Moth Doy, |

p— Rounding Within 1 Million , Name:
Round each number to the place value specified. - Answers
1) Round 2,548 to the nearest hundred.
‘ 1.
2) Round 354,580 to the nearest thousand.
2.
3) Round 709,618 to the nearest ten thousand.
3.
4) Round 956,964 to the nearest hundred.
4.
5) Round 4,344 to the nearest hundred.
5.
6) Round 64,757 to the nearest ten.
. 6.
7) Round 6,107 to the nearest thousand.
7.
8) Round 469 to the nearest ten.
8.
9) Round 5,748 to the nearest ten.
9.
10) Round 90,633 to the nearest ten.
10.
11) Round 242 to the nearest hundred.
11.
12) Round 718 to the nearest hundred.
12.
13) Round 643 to the nearest hundred.
13.
14) Round 83,853 to the nearest ten thousand.
14.
15) Round 465,749 to the nearest ten thousand.
15.
16) Round 5,492 to the nearest hundred.
16.
17) Round 94,963 to the nearest ten.
17.
18) Round 67,276 to the nearest thousand.
18,
19) Round 812 to the nearest ten.
19.
20) Round 893,494 to the nearest thousand.
20.
o, 1-10 | 95|90 (85|80 |75 70656055 |50
fl www.CommonCoreSheets.com |33/ Z 11-20|45]40(35]30[25]|20|15]10] 5
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| Want a Phone! DN{ \

by ReadWorks

"I want a phone!" said Myrna.

"I bet you do," said hef dad.

"No, but, Dad. You don't understand. | really, really, really want a phone."
"And | really, really, reaIIy want a boat. It's not going to. happen "

Myrna and her dad were stuck in traffic. To her, it seemed Iike they were always stuck in
traffic. When he took her to school in the morning-traffic. When he picked her up in-the

afternoon-traffic. Go to the bank, the grocery, a blrthday party, and what felt like ten hours of
traffic was their reward.

She was bored, because traffic was boring. And when she was bored, she wanted things.

Right now, she wanted a phone. She wasn't sure if her dad understood that. She would have.
to tell him again.

“I. Want. A. Phone."
"N.O."
"What if | was stuck in a cave?"

"What?" asked her dad, trying not to laugh.

"What if | had a kitten, and the kitten ran away, and | had to run after it. What if the kitten ran

ReadWorks.org - © 2015 ReadWorks®, Inc. All rights reserved.
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into a cave, and | ran after the kitten, and in the cave there was a bear, and the bear trapped
me, and-"

"And then you were stuck in the cave." Myrna nodded the way she did when she won an
argument, but her dad wasn't through fighting. "Is this a momma bear'? I hear they're the
~ fiercest."

"Yes. It's a momma bear, and she's very upset and she's going to eat me unless | have a
phone to call for help.”

- "If it's a momma bear, then you can use her phone. Everyone knows that moms always carry
phones."

Dad was Iaughmg as he said this. Myrna didn't think it was very funny. She slammed her

hand down on the glove compartment as hard as she could, which wasn't very hard. Now she
was angry.

"If I had a phone, | could play games on it!"
"If I had a boat, | could eat steaks on it. That doesn't mean I'm getting one."

"No, but | mean..." Myrna spluttered. When she was very angry, she spluttered. It was
~ embarrassing. "If I could play games, | wouldn't be so bored when we were in traffic. |
wouldn't bother you!" ‘

“I don't mind being bothered. | like talking to you."
"Then | won't say anything at all!"

Dad smiled quietly to himself. "I'm going to call Mom to let her know we'll be late." He reached
into his pocket. "Oh, heck. My battery's dead.”

"You know...if | had a phone, | could call Mom," said Myrna.

"Don't even."

Myrna grinned. She wasn't getting a phone, but she knew she was right, and that was almost
as good.

ReadWorks.org - © 2015 ReadWorks®, Inc. All rights reserved.
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Name: Date:

1. What does Myrna want?

A.acar

- B. a boat
C. a phone
D. a kitten

2. Whom does Myrna have a conflict with in this story?
A. her dad
B. her mom

C. a person driving in front of her and her dad
'D. a person driving behind her and her dad

3. The author describes Myrna as "angry." What evidence in the story supports this
description? . |

A. Myrna telis her dad that if she had a phone, she could call Mom.
- B. Myrna tells her dad that she wants a phone. .

C. Myrna asks her dad, "What if | was stuck in a cave?”

D. Myrna slams her hand down on the glove compartment as hard as she can.

ReadWorks.org - © 2021 ReadWorks®, inc. All rights reserved.
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4. Read these sentences from the text.

She was bored, because traffic was boring. And when she was bored, she wanted

things. Right now, she wanted a phone. She wasn't sure if her dad understood that. She
would have to tell him again.

'l. Want. A. Phone.'

'N.O.'
'What if | was stuck in a cave?'

'What?' asked her dad trymg not to laugh.

Why might Myrna s dad be trylng not to Iaugh’?

A. because he thinks her question is silly
B. because he is bored by the traffic

C. because he thinks it is funny when Myrna is bored
D. because he thinks phones are silly

5. What is a theme of this story?

A. Bemg right is almost as good as getting your way.

B. If you do not give up, you will someday get what you want.
C. If you use your lmagmatlon, you will never be bored.

D. Being kind is more fmportant than being right.

ReadWorks.drg + © 2021 ReadWorks®, Inc. All rights reserved.



Determine which scientific tool best answers the question.

Using Scientific Tools | Name: |.)|_}_A_4

Answers
A. Thermometer C. Scale E. Microscope
‘ L.
B.Ruler - D. Telescope F. Measuring Cup
1) Will only had enough money to buy 2 pounds of bananas at the grocery store. What tool 2
should he use to make sure he gets exactly 2 pounds?
1 3.
2) Oliver found a small black dot on his new sweater. What tool should he use to determine
what the dot actually is? 4
3) Adam needed to mix exactly 2 tablespoons of food coloring with 2 quarts of water. What
tool should he use to measure the amounts? 5.
4) Maria, while performing an experiment, had to make sure her wires were between 1 and 2 - |f
inches. What tool did she use to determine the length?
5) Paige earned $1 dollar for every 3 pounds of cans she recycled. What tool should she use 7.
to make sure she recycles at least 3 pounds?
| 8.
6) Mike wanted to check the water temperature of a hot tub. What tool should he use to see
the water temperatule?
9.
7) George was trying to view satellltes from his backyard. What tool should he use to help
find one? 10.
8) Billy needed exactly 6 ounces of cheese. What tool should he use to measure exactly 6
ounces? 11
9) Paul used a tool to‘\)iew the Andromeda Galaxy. What tool did he use to see the galaxy? 12.
10) Dave wanted to check the height of his flashlight. What tool should he use? 13.
14.
11) A scientist wanted to view the microbes in a drop of water. What tool should he use?
' 15.
12) Megan needed to add 500 ml of water to a mixture for an experiment. What tool did she
use to measure out 500 ml of water? '
13) John wants to compare the cells of an animal and a plant. What tool should he use?
14) Nancy was outside looking at the Crab Nebula. What tool was she using to view the
nebula?
15) Tom learned old books needed to stay at around 70° F. What tool should he use to make
sure the books don't get too hot?
E . j 1-10 (93] 87]80] 73 | 67 [60.[53 [47[40]33!
SCIence www CommanCoreSheefs com ]- 11-15 2‘7 207131710
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4 Digit Minus 4 Digit * Name: o~
Use subtraction to solve the following problems. ANsSwers
4,436 989. : 61 199 2,384 )
1.
3,081 © 1,164 1,192 445 176
3,157 2,652 3,925 2,502 3,164 ) 2
| o | 3,
D 3,581 2) 1,474 3) 7,130
-3,405 -1,029 -3,973 4.
5.
__ 6
4) _6,877 ) 4,757 B 6) 2,280 .
-4.375 -2,105 -2,219 _.
8.
9,
N 5,177 8 3,149 9 3,612 10.
- 4,978 -2,160 2,448
— _— e — 11.
12.
' g 13.
10) 2. 454 11) §.778 12) 6,662
-1,262 - 6,394 -2,226 14.
15.
13) 6,896 14) 8,744 15) 6,684
-3,732 -4,819 -3,603
odin 1-10 193 18718075 | 6760 | 53 |47 [40]33
rMathj;ww.Cnmﬁffgiiigheets.mm 2 11-151271201131 710 ’




Multiplication Drills (Mixed) Name: /Jn)/ 7~
/

Solve eh problem.

ju—y

W

et

fa—ry

o]

6 3 2 9 7 7 10 4
x 10 x 4 x 2 x10 x 4 x10  x 1 x 8
5 1 2 9 5 2 9 7
x 10 x 8 X 4 X 5 X 5 x 3 X 4 X 9
2 5 7 8 5 1 8 1
x 10 x 9 X 5 X 4 X 2 X 4 X 9 x 10
2 10 9 10 7 5 7 1
X 5 X 5 x 7 x 8 X 6 x 4 x 8 x 9
1 10 2 2 5 6 7 9
X 3 x 7 X 0 X- 6 x 7 X 4 x 7 X 9
6 9 3 3 3 3 4 6
X 9 x 3 X 9 X 3 x 10 x 7 X 5 X 6
9 4 10 4 1 7 10 8
X 6 x 0 X 6 x 7 X 6 x 3 X 4 x 1
9 2 8 2 3 10 6 10
x 8 x 7 X 3 x 1 x 1 X 2 x 8 x 10
4 7 10 4 5 8 3 7
x 10 x 1 X 9 X 6 x 1 x 10 X 2 X 2
4 8 8 6 1 6 9 6
x 4 X 5 X & x 7 X X 2 X 2 X 5

1




Ve S~ o —

Snooze Alarm - DO&‘ 2

Should school start later in the mor_nihg so teens can get more sleep?

Your alarm goes off. The room is still dark. You squint at the alarm clock. It's not even 6 a.m.!
Still, you have to get up for school. |

You brush your teeth and stumble into your clothes. You know that by 10 a.m. you will be
struggling to stay awake in class.

"No one ehould have fp get up this early for school,” you say to yourself.

Some adults agree Studies show that teens need about nine hours of sleep per night. Some

~ adults would like to see middle schools and high schools open later in the morning so teens
can get the extra sleep they need.

Other people oppose the change in school starting times. Changing the start times would

disrupt other parts of students' lives, some parents and school officials say. They say a time
change would do more harm than good.

What do you think? Should school start later in the morning than it does now? Read the
debate. Then decide for yourself.

Yes! School Should Start Later

Schoollshould begin later in the day. It would be best for students and their families. Schools

that have changed their opening times have had good results. "Test scores and grades are
rising," said an official at a school that made its start time later.

Parents would not have to bug their teens to wake up early. Students would get home from
school the same time of the day as many of their parents get home from work.

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporatmn
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Students would ‘need Iess‘ "catch-up" sleep on weekends. That would give them more time.
and energy to do things on weekends. '

Many students and adults think that opening school later is a good idea. It's time to listen to
them. | |

No! School Should Not Start Later

Openmg school later is not a good idea. Schools that start later would have to stay open jater.
That would mean that students would have to glve up other important things.

Plenty of students get good grades when their schools open early. Students who are too tired
should just go to bed earlier at night.

| Also, many parents need their teens to get home early. Many teens work or have to watch
younger siblings in the afternoon. ' |

Late start times affect many after-school sports and club schedules. Some outside activities
may have to be cut short because. of a lack of daylight hours. '

It's a busy world. People get tired. Big deal. School hours should stay the same.

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved. Used by permission, Weekly Reader is a registered trademark of Weekly Reader Corporation.
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Name: : . ‘ ‘Date:

1. According to the text, what would some adults like to see happen in middle schools
and high schools so that teens can get extra sleep?

A. They would like the schools fo start at 6 a.m. ,
B. They would like the schools to open later in the morning.
.C. They would like to see test scores and grades rise.

D. They would like to cut short outside activities.

2. What is one argument against school starting later that is‘present'ed in the text?
A. One argumeh_t against school starting later is that sports and acﬁvities might be cut
short if school starts later. '

~ B. One argument against school starting later is that teenagers do not need as much
sleep as people think. :

C. One argument against school starting later is that test scores and grades would be
lower if school started later. :

D. One argument against school starting later is that students would have more time and
energy on the weekends. :

3. Read these sentences,.from the text.

Opening school later is not a good idea. Schools that start later
would have to stay open later. That would mean that students
would have to give up other important things.

[. . .] Many parents need their teens to get home early. Many teens
work or have to watch younger siblings in the afternoon.

What can you conclude based on this evidence?
A. If school hours were changed, it is unlikely that it would impact the lives of students or
their families. |

B. If school hours were changed, all students will receive higher grades because they
will no longer have to focus on work or siblings.

C. If school hours were changed, the lives of students and their families could change in
significant ways.

D. If school hours were changed, many students would leave school early in order to
fulfill their responsibilities at home.

ReadWorks.org - © 2021 ReadWorks®, Inc. All rights reserved.
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4. What might be a good solution to the problem mentioned in the text that sports
schedules might be shortened because of a lack of daylight hours if schools start later?
A. One good solution would be to cancel the sports activities.

B. One good solution would be to install lights on sports fields so practice could run later.

C. One good solution would be for teens to get more sleep so they have energy to play
sports.

D. One good solution would be for parents to wake their teens up earlier and have sports
practlce in the morning. -

5. What is the main idea of the text?

A. There are reasons both for and against making school start times later.
B. There are more reasons for changing school start time than not.
C.There is S|gn|f|cant ewdence to suggest that schools should start earher

D. The only way to help students get more sleep is to change school start times.

ReadWorks.org - © 2021 ReadWorks®, Inc. All rights reserved.
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Plant

How weH do you know your plant parts'? Answer the questlons be!ow b
circling the correct answer under each sentence. Refer to the Parts ofa
Plant Vocabulary Worksheet to study for this quiz.

1. What part of a plant makes the mgst'f@cd?

A.stem . B. fruit ._ C. flower D. leaf

2. Which part of a flower is released into the air?

A. stem ~ B.root C. petals D. pollen

-3.Which part of a plant heips keep %hé plant in an u?r%ghi pOosit

Alstem B. root C.sun ~ D.branc

4, What makes the color of plant leaves green?

A.chlorophyll . B. green paint C. oxygen D. cells

5. Which of the following is the smallest part of a plant?

A. piaﬁt seed B,.p}am cell C. flower | D. leaf

6. Which part of a plant collects water and nutrients from the
soil?

w0

A. stem B. fruit C. flower D.roots



Qotial Studies “ba_xl.) o
WHAT IS LATITUDE AND LONGITUDE,

AND HOW DO YOU USe IT?

Some OF THIS JOURNEY WILL TAKE PLACE OVER WATER. TO NAVIGATE THE OCEeAN, YOU
WILL HAVE TO UNDERSTAND LATITUDE AND LONGITUDE COORDINATES.

WHAT IS LATITUDC AND LONGITUDE?

LATITUDC - LINES THAT GO AROUND THE GLOBE (THEY GO BYE THE DIRECTIONS NORTH
AND SOUTH)
LONGITUDE - LINES THAT POINT FROIN TOP TO BOTTOM OF THE GLOBE (THEY GO BY THE
DIRECTIONS GAST AND WEST)

oo
EXAIMPLE: WHAT CONTINGAT IS AT 20° SOUTH AND 4O’ WEST? SOUTH AMERICA
1. What continent is 40° north and 20° east?

2. What ocean is found at 20° south and 100° east?

3. What continent is at 20° south and 140° east?

4. What ocean is at 40° south and 160° west? '

5. What continent is at 40° north and 100° east?

‘| istamsuy

I
.

g
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Direchons For Numbers 1 through 3, usé the table below to compore fhe numbers.
Write the correct symbol (>, <, or =) on the blank.

g

1. 8,526 8,493

2. 8,701 8,526

3. 8493 .7 8,701

4. Write the numbers from the fable if order from greatest to léast.

5. Write the following numbers in the correct places on the number line.

42 54 39 37

6. Write 42, 54, 39, and 37 in order from least fo greatest.

Directions: For Numbers 7 through 10, use the number line above to compare the

7. 42 : 4O

8.8 __ . 37

9. 40.

10. 54

numbers. Write the correct symbol (>, <, or =) on the blank.

39

50
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| Bug Power 3
Teamwork |

How do some insects work together?

What do termites, ants, and honeybees have in common? They are all social (SOH-shuhl)
insects. Social insects live together in large groups called colonies. Social insects always

have at least one queen. The queen is the mother. She lays the eggs. The rest of the group
divides the work.

Amazing Ants

Ants often live in underground nests. The nests have thousands of rooms connected by
tunnels. Millions of ants may live together in a nest. It can contain more than one queen.
Worker ants take care of all the other ants. Larger worker ants are called soldier ants. Their
job is to guard.the nest. '

Busy Bees

& beshlve is §ll
honeyoom

Gerry Ellis/Getty Images

: ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. Alf rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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Life in a honeybee hive is busy. Up to 60,000 bees may live together. Only one queen bee
lives in a hive. Worker bees do all the chores. They care for the young bees and the queen.
They clean and guard the hive and control the hive's temperature. The workers also make
food for all the bees in the hive.

Talented Termites

§ Some termites
| bissited rush
-shaped hests,

Oxford Scientific/Jupiter images

" Termites build tall nests in wood or soil..A nest can be up to 40 feet high. Millions of termiteé
may live in one nest. Every colony has a king and a queen. They make the eggs. Worker
termites build the nest and care for the eggs. Soldier termites protect the colony.

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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buy rower - Lomprenension luestions

Name: Date:

- 1. According to the text, what do termites, ants, and honeybees have in common?

A. They are all social insects.
B. They are all antisocial insects.
C. They are all worker insects.

D. They are all soldier insects.

2. To organize this text, the author divides it into sections with subheadings. What does

the author describe in the sectlon with the subheading "How do some insects work
together?" ' '

A. what social insects are

B. an ant colony's underground nest
C. all of the chores that worker bees do
D. the job of soldier termites

3V. Read these sentences from the text.

"Antsoften live in underground nests. The nests have thousands of rooms connected
by tunnels. Millions of ants may live together in a nest.

L]

Termites build tall nests in wood or soil. A nest can be up to 40 feet high. Millions of
termites may live in one nest."

Based on this information, how are ants and termites different?
A. Ants live underground, whereas termites live above ground.
B. Ants live in nests, whereas termites live in hives.

C. Ants only have one queen, whereas termites can have more than one queen

D. Ants have soldier ants that protect the colony, whereas termites do not.

ReadWorks.org - © 2021 ReadWorks®, Inc. All rights reserved.
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Bug Power - Comprehension Questions ’

4. Based on the information in the text, how are worker ants and worker bees similar?

A. Worker ants and' worker bees both care for the other insects in their colonies.
B. Worker ants and worker bees both lay eggs for their colonies.
C. Worker ants and worker bees both build homes for their colonies.

D. Worker ants and worker bees both make food for their colonies.

5. What is a main idea of this text?

A. Soldier termites protedt the colony.
B. Social insects always have at least ohe queen.
C. Social insects live and work together in colonies. |

.D. Ants often live in underground nests.

ReadWorks.org - ® 2021 ReadWorks®, Inc. All rights reserved.
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Life cycle of a frog

Label the different sections of the life cycle below.

Word bank: Adult frog, tadpole with legss‘p POS} }é{l, tadpole, eggs

Describe the life cycle of a frog in the space below.

J
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Native Amerlcans Tradltlonal Natwe Amerlcan

Homes
by ReadWorks

Hustration by Lynn M. Hanousek

Many people ha\)e heard of cone- shaped tepees. They are probably the most well-recognized traditional

Native Amerlcan home. However, traditional Native Amencan houses came in many other shapes and
sizes.

On the Northwest coast, tribes lived in slant-roofed houses. These houses were built out of cedar planks.
The houses were huge - around 40 feet wide and 10 fest high..

The lroquois built even bigger houses. They were called longhouses. Longhouses were about 100 feet

long. There was enough room in them for a large extended family, Parents, children, grandparents, uncles,
aunts, and cousins all lived iogathar No one was left out.

En Caitf‘ornia most trtbes dwelled in simpler houses. Small sheiters were covefeci in earth or brush. Other
California inbes built redwood plank houses.

Farming tribes in the Southwast buiit pueblos. Pueblos looked a lot like apartment houses. They were

made out of stone or adobe. Adobe is a clay mixture. lt is usually made into bricks. The bricks are dried in
the sun.

In the Midwest, around the Great Lakes, women wers in charge' of building wigwams, Even the young girls
made tiny wigwams for their dolls. Wigwams are tent-like houses. They have frames made of wooden

poles. A lot of these tribes moved from place to place. Everyone had to carry their belongings on their
backs. When they moved, all they left behind were the frames of their wigwams.

ReadWorks.org - ® 2012 ReadWorks®, Inc. All rights reserved.
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Native Americans - Traditional Native American Homes - Comprehension Questions

Name: __Date:

1. What is the main idea of this passage?

A. Native Americans all lived in the same kind of house.
B. Different tribes built different kinds of houses.

C. In most tribes, women aiWayé built the houses.

D. Traditional Native American houses were very small.

2. Which is the largest house mentioned in this passage?
A wigwam
B. long house
C. redwood plank house
D. slant-roofed house

. 3. Who probably wouldn't live in a family's long house?
A. ason
B. a cousin
C. a grandmother

D, a stranger

"4, The drawing with thi's passage most Eikély shows
A. tepees and longhouses
B. wigwams and pueblos
C. pueblos and longhouses
D. wigwams and tepees

5. Based on the passage, tribes in the Midwest most likely built wigwams

A. because they wanted to fit many family members into them

B. because they could be packed up easily when they moved
C. out of adobe and stone

D. out of redwood planks

ReadWorks.org - © 2021 ReadWorks®, [ne. Al fights resarved.
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6. What was the author's purpose in writing this article?

7. Based on the passage, what did the lroquois most likely think about family? Wh_y’?

8. The question below is an incomplete sentence. Choose the word that best completes
the sentence. |

Most peoplé think of téapees when they think of traditional Native American homes,
., different tribes had different types of homes. '

A.s0

B. after

G. however
0. because

ReadWorks,org - © 2021 ReadWorks®, Inc. Al fights reserved,
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. Solve each problem.

Name: UV“} ¥
, ‘ Answers

p v N\
[ 6,525 - 580 1,824 1,960
1.
6,120 1,606 2,852 319
1,513 735 1,898 3,850 ) 2
. 3.
1)) 31 2 922 3) 58 4) 11
X 92 x 73 x10 x 29 4.
5.
6.
7.
8.
5) 55 6) 49 7 73, 8) 87 0,
x 70 x 15 X 26 x 75
10. .
11.
12.
D 722 1) 30 1D 32 12) 17
x 85 X 98 x 57 X 89
E : j N odifie 1-10 (9283 |75]67 |58 [s6[42[33[25]17]
Math www.(“,nn;ff;?ﬁigheem.cnm 2 11-1218 [ o
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GotAIIérgies? bﬂ‘l‘q |

More people in the United States have allergies today compared with decades ago. Allergies
are bad reactions to things around you or that you eat.

In 2010, more than half of Americans were sensitive to at least one allergen. That was the
finding of one survey by the National Institutes of Health. Allergens are things that set off
allergies. Many allergens-such as dust and mold-are found in the air.

"Allergies [are] increaSing over time," said Andy Nish. He' is a doctor frbm'Georgia.

Corbis

Allérgens in the air aren't the only problem. Kids' food allergies have risen too. Between 1997 .
and 2007, the number of kids with food allergies jumped 18 percent. Eating milk products and

eggs can give some children rashes. Those foods can even cause some people to have
trouble breathing. ‘

What's behind the spread of allergies? Some scientists think our immune systems don't have
enough to do. Immune systems help our bodies fight germs. But many kids today come in
contact with fewer germs than their grandparents did. That's in part because they grow up in
environments with fewer germs such as cleaner homes and smaller families. Experts say that

when our immune systems have fewer germs to fight, they can get confused. They attack
other things, such as milk that we drink, instead.

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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Other scientists say hotter temperatures are to blame. They say the weather is warmer for
longer periods now, so plants bloom longer. Plants release pollen, which is a common
allerg‘en.

Doctors do not know for sure what's maklng allergies increase. But they do know how to treat

them with medicine. "There is very good treatment for allergies," Nish says. "No one should
suffer with symptoms." '

Take Cover!

Dust and other allergens that float into ‘your nose are in for a blast-a cough or a sneeze, that

is! Both are natural reflexes, or responses, to help keep you from getting sick. Here s a look at
the big bursts.

‘Sneeze

ReadWorks.org
Copyright © 2009 Weekly Reader Corporation. Al rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.
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Alamy

Sneezes start at the back of your throat. Each quick burst can force out up to 40,000 droplets
of saliva. The tmy droplets travel at up to 300 miles per hour. '

Cough

iStock

- Coughs come out of your lungs. Each blast can push out 3,000 saliva droplets as fast as 50
miles per hour. Enough air comes out to almost fill a two-liter bottle.

ReadWorks.org
Copynght@ 2009 Weekly Reader Corporation. All rights reserved. Used by permission. Weekly Reader is a registered trademark of Weekly Reader Corporation.



RECAUVVUIKS Got Allergies? - Comprehension Questions

Name: Date:

1. According to the text, what are increasing in the United States?

A. allergens
B. germs

C. allergies
D. reflexes

2. Which of the followmg best describes the solution proposed in the text for people who
suffer from allergies?.

A. The solution is to stay away from dust and mold

B. The solution i is to stop eatmg mllk products and eggs.

C. The solution is to hide from anything that causes allergies.

D. The solution is taking medicine to help with allergy symptoms.
3. Allergies can affect someone's everyday life.

What evidence can be used to support the statement?

A. "More people in the United States have allergies today compared with decades ago."

B. "Allergens in the air aren't the only problem." _
C. "Those foods can even cause some people to have trouble breathing."
D

. "But kids today come in contact with fewer.germs than their grandparents did."
4. What can be concluded from the passage?

A. A person with allergies is sick and needs to see a doctor.
B. A person who sneezes and coughs often may have allergies.
C. A person who drinks milk and eats eggs will definitely get allergies.

D. A person who lives in a place with hot weather will never get allergies.
5. What is the main idea of this article?

A. Allergies are increasing, but simple steps can be taken to cope with them.
B. Our own human nature has produced more allergies than ever.

C. Everyday foods have caused a higher proportion of allergies than ever.
D. Coughs and sneezes are reflexes to allergens.

ReadWorks.org - © 2021 Readworks®. Inc. Al rights reserved,
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Name:_. _ _ _ _ _ _ _ _Class:. — — — — — — _ .

Vertebrates and Invertabrates

Classifify the following orgcmisms under one of the following categories.

List of organisms  Invertebrates Vertebrates

African Jewel Beetle
Shark '

Eel

American Burying Beetle
Trout

Americqn Carrion Beetle
Arizona Jewel Beetle

Tuna

Atlas Beéﬂe
Herring

Bess Beetle

Pirahnas

Northem Walkingstick
Tuna

Salamander

Orchid Mantis

 toad
Frong

| Eagle
Peruvian Firestick
Praying Mantis
Kangaroo
Vietnamese Walkingstick
Black scorpion
Earthworm

Newt

Hint: Verterbrates are animals that have a spinal column or backbone while invertebrates are
~animails that do not have one. '




Native Americans

by Vinnie Rotondaro

Native Americans have been living in what is now the United States of America since fong
before any Europeans came. They are not just a single group of people - there are many
different tribes of Native Americans. Different Native American groups have different
languages, religious beliefs, and ways of living, or folkways.

You can see just how different Native American groups can be by comparing one to another.
L.ook at the Hopi people. The Hopi are Native Americans who come from what is now the
American Southwest. When the Spanish came to Ame%éca in the 16th century and found the
Hopi people, they nicknamed them “pueblo people” bacause Hopi people didn't move around
much-they lived together in what amounted to towns. Pueblois a Spanish word that means
"town." The Hopi have always been a very peaceful people. Their name comes from the term

Hopituh Shi-nu-mu, which means, in the Hopi tanguage, "The Peaceful People” or "Peaceful
Little Ones."

Now compare the Hopi to the Navajo. The Navajo come from the same general area as the

Hopi. But instead of being a "pueblo peaple.” instead of staying In one place, they moved
ReadWorks.org - @ 2013 ReadWorks®, Inc, Al sights reserved. i
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around They didn't !Ne in permanent towns like the Hopi. They were a "semi-nomadic”
people. While the Hopi were historically known for farming, the.Navajo were known for

hunting and gathering. After they met the Spanish, the Navajo became known for herding
sheep. The Hopi, not so much. '

The Hopi and the Navajo were, and are, two very distinct groups of people, and they come
from the same part of the continent! So think about how much other tribes from other parts of
the continent might d:ﬁer

For thous&nds of years the Chinook have lived near the coast of the Pacific Ocean. They
were known, and are still known, for being skilled fishers. The Chinook would make huge dug-
out canoes, and the fish that they caught most often was the salmon. The salmon was a very

important food source for the Chinook, and it plays a large role in the Chinook sense of
identity. :

All the way across the country, over in what is now Mame the Penobscot also derive meaning
and a sense of tdentzty from the animals they hunt. But they are completely different animals:
beavers, otters, moose, bears, and caribou. '

Today, there may not be as many thriving Natsve American tribes as there used to be, but
there are more than a few. The United States of America federally recognizes more than 500
different Native American tribes. When a tribe is federally recognized, it means that the tribe
may form its own government with its own ans taxes, and rules. There are also about 400
non-federally recognized tribes. All in all, there are about 1 000 different groups of Native
American people in the United States, and each group is unique.

ReadWorks.org - @ 2013 ReadWcrks@, inc. All rfights reserved.



Name: Date:

1. How long have Native Americans been living in America?

A. a few decades
B. since aﬁer.the arrival of Europeans

© C. about the same time as the Europeans
D. long before any Eﬁropeahs came

2. Why does the author compare different Native Americ
passage?

an tribes throughout the

A, to show that they all come from the éame_ region of North America
B. to show how different Native American tribes can be
C. to show the different ways Native American tribas found food

D. to show the traveiihg’ patterns of different Native American tribes

3. Read the sentence: "The Hopi and the Navajo were, and are, two very distinct groups
of people, and they come from the same part of the continent! So think about how much

‘other tribes from other parts of the continent might differ.”

" What does the author suggest with this information?

A. The Hopl and Navajo tribes are extremely unusual tribes.

B. Native American tri

bes from different parts of the continent may be similar to the Hopi
and Navajo,

C. Native American tribes from different parts of the continent may be even more distinct
from the Hopi and Navajo. ‘

D. Other fribes may try to move to the part of North America where the Hopi and Navajo
live, . :

4, What can be inferred about how the num

ber of Native American tribes has changed
over time? '

A. There are more Native American tribes today than in the 16th century.
B. There are fewer Native American tribes today than in the 16th century.

C. There are the same number of Native American tribes today as in the 16th century.
D. ltis unclear how the number of Native American tribes has changed.

ReadWorks.org - @ 2021 ReadWorks®, Inc. Al rights reserved,
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5. What is the main idea of this passage?

A. Native American fribes can be very different from one another.

B. Native American tribes should be recognized for their similarities. '

C. The Spanish had a large role in determining the difference of Native American tribes.
D. The Hopi and Navajo are thé two most important Native Américan tribes.

6. Read the sentences from paragraph three: "But instead of being a ‘pueblo peopie,’
instead of staying in one place, [the Navajo] moved around. They didn't live in |
permanent towns like the Hopi. They were a 'semi-nomadic’ people.”

As used in the sentence, what does the word "permanent” most nearly mean?
A. changing
B. cultural

C. long-lasting
D. unstable

7. Choose the answer that best camptetes the sentencé below.

The Chinook and Penobscot tribes both derive meaning from the animals they hunt
the animals they hunt are completely different!

A. because

B. even though

C. in contrast

D. nevertheless -

ReadWorks.&g - © 2021 ReadWorks®, Inc. All rights reserved,
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8. According to the passage, what similarity do the Penobscot tribe from Maine share
with the Chinook tribe that live near the Pacific Ocean?

9. Both the Hopi and Navajo people came from what is now the American Southwest
yet they had different lifestyles. Explain how the lifestyle of the Hopi people differed
from the lifestyle of the Navajo people.

10. Native American tribes can be similar in some ways even though they are very
different in other ways. Use evidence from the text to support this statement,

ReadWorks.org - @ 2021 ReadWorks®. Inc. All rights raserved.
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Stacia has 76 photos from her class -
field trip to the Liberty Bell. She

" ‘wants to put the photos in an albi:m.
Bach page holds 4 photos. How do
you find how many pages of the
album Stacia needs?

A. Add76and4

.

B Subtract 4 from 76
C.  Multiply 76 by 4
'D.  Divide 76 by 4

A

Connor earns §5 mowing lawns. If
he earned $75 one week, how many
lawns did be mow?

A. 15kwns
B 76 lawns
C. 80lawns -
D 375 lawns

. A song costs 99¢ to download. Brett
wants to download 8 songs. How do
you find how much it will cost Brett
to download the songs?

A. Add99¢and8

B Subtract 8 from 99¢ -

C.  Multiply 99¢ by 8

D.  Divide 99¢ by 8

B
. C. 56 types
D.

- On Saturday, 7,328 people visited the

county fair. On Sunday, 5,053 people
visited the fair. How many people
visited the fair in all?

A. 2,275 people

B. 12,281 people

C. 12,371 people

D. 12,381 people

There are 353 different types of
pairots and 309 different types of -

- pigeons. How many more types

of parrots are there than types of
pigeons? ‘
A. . 44 types

54 types-

144 types

‘Which operation would best solve
this problem: Some types of bamboo
can grow 12 inches in one day. How
many inches can the bamboo grow in
one week? .

A.  addition

subtraction

B.
C.  multiplication
D

division

Amber surveys 456 people at the mall and 389 people at the grocery store

about their favorite type of animal. How many people does Amber survey in all?

Maoth T

e

)




Crossing the Finish Line 50115

by ReadWork_s_l

i - Crossing the Finish Line
AV TEYE W WLWIELNL

a marathon runner

‘Running a marathon is not easy. It takes hard work, practice, and patiénce—. After ali, toruna
marathon, you have to run 26.2 miles by foot! Think about it this way: 26.2 miles is the same
as running the length of a football field more than 460 times. It takes most people four or five

hours to ﬁnish. In 2013, the world's fastest marathon runner finished the race in 2:03:23.
Imagine running for over two hours without a break! '

By the age of 30, Lea Tambeliini had run more than five marathons and had no plans to stop.
She had always been an athlete. When she was in high school, she swam on her school's

swim team and ran to stay healthy and active. Her mom and dad ran marathons, and when
she was 22, they helped her train for her first marathon. '

Lea's first marathon took place in Cincinnati,' Ohio, and was called "The Flying Pig."
"l was very nervous," she said, "but | had my mom there, so that helped."

Running the race was hard, but the hardest part was when she ran past a cookie factory and

smelled cookies at mile 18. "] just wanted to be done," she said. "| was spent, but my mom
kept me going. It was already her 15th marathon."

ReadWorks.org - © 2015 ReadWorks®, Inc. All rig_hts reserved.



RCAQWOIKS ‘ Crossing the Finish Line”

The word "marathon” comes from a Greek legend. In the legend, a brave soldier ran all the
way from the battlefield of Marathon to Athens, Greece to tell everyone the Greeks had won
the battle against the Persians. It is said that he ran the entire way without stopping-a
distance equal to a modermn marathon. -

Today, thousands of people run marathons every year. Runners train for months to get ready.
To prepare for one of the marathons, Lea ran four to five times every week. On weekdays
she completed shorter runs, five or six miles at most. But on the weekends she ran long
distances-13 miles, 15 miles, and 20 miles!

"I don’t mind training because | get excited about working toward something. And I love

running with a group of friends and worklng toward the goal together But it does take a lot of
time." -

Running a marathon is a great achievement. "It's a. great feeling of accomplishment and
nothing feels as wonderful as reaching my goal when | cross the flmsh line," Lea explained. "I
can't wait for the- next onel" :

ReadWorks.org - © 2015 ReadWorks®, Inc. All rights reserved.



Name: ' __Date:

1. What did Lea Tambellini train for when shewas22?

A. her first marathon
B. her first relay race
C. her first swim meet

D. her first baseball season

2. What does this text describe?

A. This text describes the fight between the Greeks and the Persnans on the battlefield of
Marathon

B. This text describes how the marathon known as "The Flying Pig" got lts name.
C. This text describes marathons and the experlence of someone who runs them.

D. This text describes what Lea Tambellini's dad felt like when he ran his first marathon. :

3. Running a marathon takeé hard work, practice, and patience. What.evidence in the
text supports this statement?

~ A. Runners train for months to get ready for a marathon.
B. Lea Tambellini had run more than five marathons by the time she was 30 years old.
C. There is a marathon in Ohio called "The Flying Pig."

D. The word "marathon" comes from a Greek legend.

4. How did Lea's feelings about running a marathon change?

A. At first she felt excited, but later she felt nervous.
B. At first she felt bored, but later she felt scared.
C. At first she felt scared, but later she felt bored.

D. At first she felt nervous, but later she felt excited.

5. What is the main idea of this text?

A lt tekes most people four or five hours to run a marathon.
B. Running a marathon is hard work, but Lea Tambellini enjoys it.

C. The hardest part of Lea Tambellini's first marathon was running past a cookie factory.

D. Lea Tambellini loves running with a

group of friends and working toward a goal with
- them.

ReadWorks.org - ® 2021 ReadWorks®, Inc. All rights reserved,
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Name:_ _ _ _ _ _ _ _ _ Class:- . _ _ _ _ _

Temperate forest ecosystem

1. The puzzle below contains names of. inmols that can be found in a temperate forest. Find
these names in the puzzle.

ek - [Cval
rabbit | | Lreljpcweu
»‘ badger IpLGWRS P S
g@ . raccoon i‘—lK DX S W
zz;lgg Jeovool sl Jicct
conkaton | HBUTRYBJDWOTPP
| BADGERVY IGCPYBYXS
bear lekuYyokGeTGoOUOEP N
bison RACCOONZHCNTLOC
frog Ik TcouGcGARKRESGTF
deer HGBF IBHFAMIOF
HQJBNZETBRS|[
QP OHBAOTF I
GDEEROSFP

2 Which of the following factors could influence the population of species in an ecosystem 2

the population of predators

the intensity of hunting by humans
the availability of suitable habitat
all of the above

n o o

o

3. During a period in the year, the population of migratory birds increase in a given forest.
What will happen to the insect population ¢

it will decrease

it willincrease
remain the same
none of the above

a n T 0

4. Explain your choice in question 3.

5. In what ways have human activities affected temperate forest ecosystems 2




Prehistory: Prehistoric People
| _ by ReadWorks _

Imagine living in a world without wﬁting. That's prehistory. Prehistory is the time before humans wrote.

Until 5,500 years ago, people had no system of writing. Without such a system, keeping records was more

difficult. Peaple couldn’t write down information to pass on to the next generation. The people who lived

duréng’ this time are known as prehistoric people.

Scientists have been able to learn a lot about prehistoric people. How? They study the clues these people
left behind. The clues include fossils and tools buried in the ground for thousands of years. Scientists
study bones to figure out what prehistoric people looked like. Bones can also reveal how long these -
ancient humans lived. Scientists study prehistoric teeth as well. These teeth can tell them what prehistoric

~ people ate. In addition, researchers study pottery and tools, which tell them about prehistoric life. Other
scientists research the plants, rocks, and animals that wers around during prehistoric times.

By studying all these things, scientists have learned a lot. For instance, they have learned that these early
human beings looked very different from people today. Prehistoric people stood upright, but they looked
somewhat like apes. Their faces were very large, though their brains were only about one-third the size of

our brains. The teeth of prehistoric people were large and flat. This made them good for grinding foods
such as fruits, vegetables, nuts, insects, and small animals.

ReadWorks.org - @ 2012 ReadWorks®, ino. Al rights reserved,



Name:

, Date:
1. According to the text, what is prehistory? |
- A. the last 5,500 years |

B. the time before humans wrote

C. the clues bi;ried in the ground
-D. the cfues people left behind

2. What does the author describe in the second paragraph?

A. The author éompares and contrasts prehistoric people with people today.
B. The author describes how scientists are able fo study prehistoric people.
C. The author defines and introduces what "‘prehistoric“ means.

D. The author describes how the world changed when writing was invented.
- 3. The bones of prehistoric people can tell us a lot about them.
What evidence from the text supports this conclusion?

A. "Scientists study bones to figure out what prehiétoric people looked like. Bones can
also reveal how long these ancient humans lived."

B. "The teeth of prehistoric peaple were large and flat. This made fhem.goad for grinding
foods such as fruits, vegetables, nuts, insects, and small animals." -

C. "Sclentisis have been able to learn a lot about

prehistoric people. How? They study
the clues these people left behind." :

D. "In addition, researchers study pottery and tools, which tell them about prehistoric life.

Other scientists research the plants, rocks, and animals that were around during
“prehistoric times."

4. Based on the text, what have scientists learned by studying clues from early
humans? |

A. Prehistoric people walked like other animals.

B. Prehistoric people were very different from modern humans.

C. Prehistoric people were the same as apes today.

D. Prehistoric people ate lots of meat.

ReadWarks.org - ® 2'(.52.1 ReadWorks®, inc. All rights reserved,



5. What is this passage mostly about?

A. ancient people an& their famous writings
B. ancient people and how they are studied
C. people who study'fossils

D. animals that lived before humans

6. Read these seh{enc;es from the text,

The teeth of prehistoric people were Iarge' and flat. This made
them good for  grinding foods such as fruits, vegetables, nuts,
insects, and small animals.

As used in these sentences, what does the word "grinding” mean?

A. swallowing whole
B. spitting

C. crushing into bits
D. drinking

7. Choose the answer that best completes the sentence.

Scientists study fossils learn more about ancient people.

A.inorderfo -
" B.because

C. although

'D. in spite of

8. According to the text, how were prehistoric people different from people today?

9. Based on the text, what might prehistoric pottery and tools tell researchers about the
people who made those items? Use evidence from the text to support your answer. -

ReadWorRs.erg - @ 2021 ReadWorks®, inc. A rights reserved.
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D o fé | DAILY READING READY

TEKS: 4.3C, 4.8B, 4.9A
CCSS: L.4.4.B, RL.4.3, RL4.5, RL4.10

) MONDAY ) ' _ —

Read the following paragraph and answer the questions that follow.

“Class, the reptile handler from the Burbank Zoo is here to present
some reptiles to you,” said Mrs. McFerrin. The first thing he presented was
a baby crocodile. Barnaby’s hands began to sweat just thinking about the
scaly creature with the rows of razor sharp teeth. “I would like a volunteer
to help me demonstrate this awesome creature,” said the handler in an
enthusiastic voice. "I would like for you to help,” the handler pointed at
Barnaby. His blood began to run cold. “I didn't even raise my hand to
volunteer,” thought Barnaby, but he shakily went up to the front anyway.

1. The reader can tell that the 2. What can the reader tell about the
selection is realistic fiction reptile handler based on these
because it - (4.9A) details? (4.88B)

"I would like a ‘Volunteer to help me
demonstrate this awesome creature,”
said the handler in an enthusiastic voice.

A. describes events and actions
that took place a long time ago

B. exaggerates the abilities of the
main character

C. tells a story that has been
handed down from generation
to generation

D. tells about events that could
happen in life today

A. The reptile handler does not
understand much about
crocodiles.

B. The reptile handler feels uneasy
around reptiles.

C. The reptile handler is eager to
show the crocodile to the
students.

D. The reptile handler wants
Barnaby to be the volunteer.

. ® 2017 Watson Works, LLC
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2
The prefix un- means “not.” List 3 words that begin with the %
prefix un- and define them. (Ex: uneasy = not easy) ®

10



Algebraic Concepts

voave e on L

oW R

Which number makes this number

sentence true?

o E P
o]

.

9
18

=)

Which number makes this number
" sentence true?

5 X = 30

30

25
‘ 6

4

=

. Which symbol makes this number

sentence true?

9 x3( )27

w®
.+.

e o
v

Paloma wrote this number. sentence:

4x7()26

- Math Ba\!t
Onyourownljj " Circle the answer for eaéh.quéstion.

4.

>

Which number makes this number

sentence true?

® F
]

0

5
50

=

Which symbol makes this number

sentence true?

10( )12 +3
A.
B.
C.
D.

vV A+

il

Which symbol makes this number

sentence true?

18-9()12

T aFr

I

Part A. Write <, >, or = to make the number sentence true.

i) 98 m\mg fﬁ |



Classification of organisms

a__.

- Identify which of the following is a bird, mammall, fish, repfile or amphibian.

e TP
2 Clossify the following either as bird, mammai, fish, reptile or amphibian.
Alpine stream salamander _ | Amythystine Python
Ardbian foad : - Arafura File Snake
Red deer

Wood mouse
Asian House Gecko

Albacore
Amberjack

- Bank Sea Bass
Palmate newt

Water frog

Bar-tailed Godwit
Bean Goose

Common frog

Bewick's Swan
Atlantic Bonito

Bat
Common toad Barracuda
Black Brant Banded Sea Snake
Black Guillemot Carpet Python
Red squirrel Bigeye Tuna
Water shrew ‘ Blackfin Tuna
Black Swan . b

Blackbird




Name ' ‘ Date lv)@y (p
Read a Line Graph

RECTIONS _ Study the line graph showing average temperatures on the north ..~
: snd@ of the Gremd Cany@n Then answer the questmns

Wthh month has the coldest average temperature7

Wthh two months have the same average temperatures7

What is the. average temperature in August?

Which month is cooler, April or October?

£
-
e
)
@

Which month is warmer, December or February?

How many degreés colder is November than October? ‘

@ How many degrees warmer is June than January?

VY br}k-afnd Practice Book ) © Use after reading Chapter 1, Skill Lesson, pages. 30-31.
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D OW\ g DAILY READING READY

TEKS: 3.3D, 4.3A, 4.8B
o/ CCSS: L.4.4.C, L4.5.C, RL.4.3, RL4.10

Read the following paragraph and answer the questions that follow.

- “Class, the reptile handier from the Burbank Zoo is here to present
some reptiles to you,” said Mrs. McFerrin. The first thing he presented was
a baby crocodile. Barnaby’s hands began to sweat just thinking about the
scaly creature with the rows of razor sharp teeth. “I would like a volunteer
to help me demonstrate this awesome creature,” said the handler in an
enthusiastic voice. "I would like for you to help,” the handler pointed at
Barnaby. His blood began to run cold. “I didn't even raise my hand to
volunteer,” thought Barnaby, but he shakily went up to the front anyway.

1. When the reptile handler speaks 2. Which meaning BEST matches the

to Barnaby, the reader can tell way the word row is used in the
that Barnaby - (4.88) selection? (4.34)
A. may not understand that he row \'ro\

has been chosen 1. to move a boat by means of oars (verb)
B. is paralyzed with fear. 2. a series of persons or things arranged
C. sometimes sweats when he in a straight line (noun)

exercises 3. a noisy disturbance or fight (noun)
D. questions if he is in the right - ,

class A. Meaning 1

B. Meaning 2
C. Meaning 3
D. None of these are correct.

© 2017 Watson Works, LLC
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A synonym is a word that has the same or almost the same

meaning as another word. List 3 synonyms for the word great.
(Ex: awesome)

11



. Ndmbers and Operations -

4,845 + 3,119 =

Circle the answer for each question.

4. 5462 + 4,275 =

A, 7,734 A. 9,537

B. 7,954 B. 9,637

C. 7,964 C. 9,737

D. 8,064 ° D. 9,747

8,303 —~ 2,478 = , 5. 7,008 — 1,284 =

A. 6,825 | A. 5724

B. 6,135 B. 584

C. 5,835 C. 6724

D. 5825 - D. 6824

There are 4,525 tickets for a concert.. | 6. On Saturday morning, the museum

So far, 3,617 tickets have been sold.
How many tickets are left for the

had 2,438 visitors. On Saturday
afternoon, the museum had 3,105

concert? = : | visitors. How many total visitors did
A, 898 tickets o the museum have on Saturday?
B 908 tickets ' A, 667 visitors
C. | 1,918 tickets’ B 5,533 visitors
D. 8142 tickets y C. 5,543 visitors
' D. 5,553 visitors
7.

The table shows the visitors to the Philadelphia Zoo for three déys.

Thursday 2,089
Friday 1,376
Saturday 3,557

Part A.  How many total visitors went to the Philadelphia Zoo on these
three days? ' '

s 1
L §
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B

1
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Name:

— Prod_ucers and Consumers )

‘A producer is a Iiving fhing that makes its own food from
sunlight, air, and soil. Green plants are producers who make
foodin their leaves.

A consumer is a living thing that cannot make its own food.
Consumers get their energy by eating food. All animals are
consumers,

A decomposer is a living thing that gets energy by breaking
down dead plants and animals. Fungi and bacteria are the
most common decomposers.

Tell whether each living thing below is a producer, consumer, or decomposer.

a. apple tree - ‘ _ , b hawk -
€. mushroom - d. carrot -
e. drogohﬂy— . f. bamboo -
g. cougor - ' h. bacteria -
i. daffodil - : . pigeon-
k. snake - l. caifish -

Super Teacher Worksheets - www.superfeacherworksheets.com




Social Shudies Doy ¢

Name:

: \
S Reading a Map )

Camping
Trailer -

& Tent
m Cabin

é Campfire
ﬁ;l Rowboat

Land

Water

1. LabelN, §, E, and W on the compass rose.

. . PR
[ R RS WV

Write north, south, east, or west to complete each sentence.

a.9. The rowboats are of ’rhé campfire.

3.6 The camping Trcﬁ!ers are of the tents.
Y.8.- The cabins are of the tenfs.

5.€. The campfire is of the camping trailers.
h_h The island is of the cabins.

Super Teacher Worksheets - www.superfeacherworksheets.com
T, 3 7 £
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Name: Dm\ g TEKS: 4.8B, 4.9B, 4.10D

CCSS: L.4.5.A, RLA4.3, RL4.10

DAILY READING READY

J
) WEDRESDAY)

Read the following paragraph and answer the questions that follow.

instructor saw many amazing sights. Tropical fish and coral were all
around. They even saw an eel and some starfish. Suddenly, out of

looked at each other with wide eyes. The instructor signaled to them to
stay calm, and soon, the shark swam slowly away. When they surfaced,
Chris shouted, “"That was awesome and terrifying all at the same time!”

because that’s not quite how I am feeling.”

1. Read the sentence below. What 2. The author included the simile in

are the boys most likely thinking the underlined sentence to suggest
at this point in the story? (4.88) that the creature that appears -
(4.10D)

Chris and Luca.é looked at eaéh

other with wide eyes. A. came out of nowhere
: B. wants to eat the boys
A. They realize that a shark - C. allows them to get away
wants to eat them. D. is very enormous in size
B. They are not certain what they
should do.

C. They wonder how long it will
take to get away.

D. They are happy to see the
shark. ‘

® 2017 Watson Works, LL.C
TE i e R s i e

A simile is a figure of speech in which 2 things are compared
using the words fike or as. Complete the similes below.

is as big as u

is big like »

12

“Chris; be sure you stay close to the diving instructor when we begin
our descent into the water,” Lucas said. “No problem. I've got this,” Chris
replied. As they dove deep below the ocean’s surface, the friends and their

nowhere, a gigantic shark as big as an elephant appeared. Chris and Lucas

Lucas replied with a shaking voice, “I'm glad you thought it was awesome




Physical or chemical change

The foﬂowing are either physical or chemical chqng'es_. Write _‘_F:_for phyical changes and ;C_;
~for chemical changes.

.. Butter melting.

2 A glass cracking when heated.,

3 Water exposed to extreme cold becomesice.

4 Melting a lead bar.

5. Burning sugar for caramel.

¢ Disolving sugar in water.

7. Tearing a piece of paper.

8. Slicing cheese.

. Condensation of water vapor,

1. A metal spoon rusting.

12 Frying fish.

13 Baking a cake

14 Acid rain disolving paint off g wall.

15 Some acid is added to a salt and a gas is produced.

Determine if the following processes are physical or chemical changes.

a. boil - g. melt - m. explode -

b. combustion - h. rust - n. grind -

C. condense - i. crush - 0. rof -

d. corrode - | freeze - p. vaporize -

e. crumple - k. oxidize - d. photosynthesis -
f. ferment - chemical . tarnish - r. sublimation -

What is a chemical change ?

S

L

thfﬁis a phyical'change ?




Sotial Studies Day

Name

Worksheet 2-1

Look at the pictures below. Decide whether a consumer or a producer iz being
deseribad. Then check the corvect bux, “consumer” or “producer.”

1

| Chrig gets permission to buy a jacket
;’beiare colll weather comes.
|

) [ Consumer [T Producer

’Mr Sancher owng a company that buitds
-new houses,

IZI Congumer 1 Produacer

Mrs Richardson iz a beekeeper. She

;we pares jars of honey and takes them to
; a roadside stand.

: El Consumer I3 Prodsicer

P
1

‘_

‘Mr Kalsey pets o cake and candles ior
Chr:s g birthday party.

ﬂ Consumer I Produeer

Ma. Moore has a family haireut shop
: where she cuts the haiy of men, wWomen,
hays and gxris

El Consumer £t Producer

An Erconomy at Work » Page 43




McCreary County Schools

Elementary NTI Packet

DAY 9

Student:




DAILY READING READY

TEKS: 4.6F, 4.7D, 4.8C
CCSS: RL4.1, RL4.2, RL4.3, RLA.IO

Read the following paragraph and answer the questions that follow.

“Chris, be sure you stay close to the diving instructor when we begin our
descent into the water,” Lucas said. “No problem. I've got this,” Chris replied.
As they dove deep below the ocean’s surface, the friends and their instructor saw
many amazing sights. Tropical fish and coral were all around. They even saw an
eel and some starfish. Suddenly, out of nowhere, a gigantic shark as big as an
elephant appeared. Chris and Lucas looked at each other with wide eyes. The
instructor signaled to them to stay calm, and soon, the shark swam slowly away.
When they surfaced, Chris shouted, “That was awesome and terrifying all at the
same time!” Lucas replied with a shaking voice, “I'm glad you thought it was
awesome because that's not quite how I am feeling.”

1. The problem in the story is solved 2. What is the BEST summary of the story?
when - (4.8C) (4.7D)

. A. Chris and Lucas decided to go diving in the ocean
the boys looked at each other * with an instructor, and they saw many amazing
with wide eyes sights. The boys were nervgus when they

; encountered a huge shark, but they stayed calm
- the mStrUCtor talked to the boys and the shark swam away. The boys had ’
. the shark swims slowly away different feelings about the encounter as they
. Lucas replied with a shaking voice surfaced.

B. Chris and Lucas went on a diving trip with their
instructor, They saw a shark and many other
amazing creatures, Chris enjoyed the dive, but
Lucas wasn't sure how he felt.

C. Chris and Lucas were nervous when they
encountered a shark, but it swam away because
they were calm. They were fine even though
they were terrified.

D. Chris and Lucas dove with an instructor. They
saw things in the water. They saw a shark and
got scared. They stayed calm, and it swam
away. Chris was excited, but Lucas wasn't.

© 2017 Watson Works, LLC
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Reread the last sentence of the story. Why do you think Lucas
isn't quite sure how he is feeling? How can you tell? (Write in
complete sentences.)

13



Estimation

Circle the answer for \Lh question. A

Onf-ur0um' ] 5

SRR

1. Ming brought 6 packages to the post | 4. At a:'school dance, there were 219

office. Bach’package weighed 18 third graders and 274 fourth graders,
pounds. Which is the best estimate of About how many total students were
the total weiglit of the packages? at the dance? :
A. 60 pounds A 500 students
B. 80 pounds | " B. 400 students
C. 120 pounds _ C. 200 students
D. 150 pounds D 100 students
2. Riley knows that the school gym 5. In 2006, the population of Fayette
holds 895 chairs. She has set up 629 County, Pennsylvania, was 145,760,
chairs so far. Approximately how and the population of Erie County,
many chairs does Riley have left to o Pennsylvania, was 279,811. Round
set up? , : each population to the nearest ten
A 30 chairs - ' thousand to estimate how much
s VYA larger the population of Erie County
B 300 chairs was than the population of Fayette
C. 400 chairs County. '
D. 1,500 chairs . A. 100,000 people
o ) ] ' B 120,000 people
3. Allison makes 8 gift bags in one :
hour. She works 32 hours each week. - G 130,000 people
About how many gift bags can Alison D 200,000 people
make in one week? , .
_ .| 6. James reads about 63 pages a day.
A 4piftbags ‘ About how many pages can James
B 40 gift bags _read'in one month? v
€. 240giftbags A. 2,100 pages
D 520 gift bags B 1,800 pages
C. 210 pages
. D.  1807pages -
7. The diameter of Earth is 7,926 miles. -~ o Earth

K

Part A. What is the diameter of Earth rounded to
the nearest thox_lsand?

" diaheter
7,926 miles 4




| > T ST T e e YN AV AMLUALI LA AALIVLL Lyalliv. N LY !
Determine which number correctly answers both equations. ‘ / Answers
Ex) 20+4= 1) 48+8= 2) 24+3=
x4=20 x § =48 x3=24 Ex. 3
1.
2.
3) 72+8= 4) 28+4= 5) 12+6=
x8=172 x4=28  x6=12 3.
4.
6) 5+5= 7 2+2= 8) 54-+6= 5.
X 5= 5 X 2 = 2 X 6 — 54
6.
7.
9) 32+8= 10) 30+6= 11) 35+7= 8.
x8=32 X 6=30 x7=35
9.
10.
12) 21+3=__ 13) 3+1= 14) 56+7=__ .
x3=21] x]1=3 x7=56 '
12.
13.
15) 16 +8= 16) 10+5= 17) 27+9=
x8=16 X5=10 X 9=27 14,
15.
16.
18) 15+3= 19) 8+1= 20) 36+4=
X3=15 x1=8 x4 =36 17.
18.
19.
20.
1 1-10 |95(90| 85
@ www.CommonCoreSheets.cam 11-20 [ 200151101510
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1

What part of the plant takes up water and nutrients from the soil 2
a. leaves

b. roots
c. flowers
d. stem

They are the reproductive part of a plant.
. leaves

b. roofs
. flowers
d. stem

o]

0

They also help in stabilizing a plant from being blown away by wind.
a. leaves

b. roots
c. flowers
d. stem

The of a plant are colorful and attract insects for pollination.
a. leaves

- b. roots

c. flowers
d. stem




1=
3
2
2
&
X
2]

Baltimore, Maryland | o 5_58;'600 |
_'Chaﬂés"cbn South Carolina . . o - _1_,864,000 .
| Miami, Flonda ' | ' | | 1,010,000

Norfolk Harbor, Vlrglma AT 1,809,000
.Savannah Georgia S 1,662,000

Name - . _ Date [Ja\/ L/ 3

Ports in the Scutheast

Sﬁudy ih@ iabﬁ@. Th@n @@mp @i‘@ i‘he acﬁuvnﬁueg b@ﬂ@w,

0 What information does the table. show?

_ Which city shipped the lar est I;.liiinber of cargo-containers? |
: city shipp g . I carg

© Which city shipped the fewest cargo containers? __

X~

Which city shipped more containets, Miami or Savannah? .

o

Miaini shipped about twice as
many containers as which.city?

@ How many containers were shipped
from Norfolk Harbor? ’

Use after reading Chapter 6, Lesson 3, pagés 194—199. Homework and Practice Book = 53
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TEKS: 4.3C, 4.8B, 4.9A
CCSS: L.4.4.8, RL4.1, RL.4.3, RL.4.5, RL4.10

Read the following paragraph and answer the questions that follow.

Mom knew that Larry wasn’t an early riser, but he would have to get
up early today because it was the first day of school. Since he had been
staying up late all summer, she knew it would be especially tough to get
him up this morning. Mom- walked guietly into the room and rubbed his
arm. “Wake up, Larry,” she said. He just grumbled like a bear and rolled
over in his bed. She rubbed his back a little this time. “Come on, it's time
to wake up, Larry,” she said in a sterner tone. Larry began shooing her
away with his hands. “Go on, Mom. I have my alarm set, and
I have five more minutes,” Larry grumbled, Soon, Mom heard
Larry’s alarm buzzing...and buzzing...and buzzing. Finally, she
had had enough. She marched right into his room and
uncovered him. “Get up right now, young man!” she insisted.
Larry sat up with a grouchy look on his face and his eyes still
closed. He mumbled and griped all the way to the bathroom
to begin getting ready.

1. The reader can tell that the selection § 3. What can the reader telt about Larry’s

is realistic fiction because it - (4.94) mom based on these details? (4.88)
A. describes events and actions that Soon, Mom heard Larry’s alarm
took place a long time ago buzzing...and buzzing...and buzzing.
B. exaggerates the abilities of the Finally, she had had enough. She marched
main character right into his room and uncovered him.

C. tells a story that has been '
handed down from generation to A. She does not understand why Larry

generation won't get up.

D. tells about events that could g gae 'ds ann?yﬁf thlat Larll‘y vlllon’t get up.
happen in life today D. e doesn't like alarm clocks.

. She wanted Larry to clean his room.

2. ~In the paragraph above, the prefix 4. Larry’s actions before school suggest that
un- helps the reader determine that he - (4.8B)
the word uncovered means -

(4.3C) A. is irritable when he is awakened

B. does not like getting ready for school
A. not covered C. becomes irritated when someone
B. hidden bothers him
C. not protected D. is not excited about the first day of
D. underneath school

14
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CCSS: L.4.4.C, L4.5.A, RL.4.1, RL.4.2, RL.4.3, RL.4.4, RL4.10

5. Which meaning BEST matches the
way the word tough is used in the
selection? (4.3A)

tough \'tof\ adjective

1. not easily chewed

2. having much crime or bad behavior
3. very difficult

4. flexible and not brittle

A. Meaning 1
B. Meaning 2
C. Meaning 3
D. Meaning 4

6. The author included the simile in the
underlined sentence to suggest that
Larry ~ (4.10D)

may attack his mother

is grumpy v

sleeps the way a bear does
. is uncomfortable

cOw>

7.  What does the underlined word
guietiy mean? (4.3B)

A. forcefully
B. noisily
C. silently
D. sternly

8. The problem in the story is solved
when - (4.8C)

Larry finally gets out of bed.

Mom uncovers Larry.

Mom tells Larry to get up.

. Larry shoos his mother away with
his hands.

cRelbo

9.

15
® 2017 Watson Works, LLC

10.

Larry shoos his mother away with his

hands most likely because he -

opwR

(4.6F)

is swatting at a fly

is trying to turn off his alarm
wants her to leave him alone
needs to go to the bathroom

What is the BEST summary of the story?
(4.7D)

A.

Mom heard Larry’s alarm clock going
off, and she got angry. He wouldn’t get
up and had a grouchy look on his face.
He went to the bathroom to get ready.

Mom tried to wake Larry up since it was
his first day of school. She kniew it
would be difficult because Larry had
stayed up late all summer and wasn’t an
early riser. Mom did everything she
could to try to wake him up quietly
before she became angry. After she
uncovered him and insisted that he get
up, he grumbled all the way to the
bathroom to get ready.

Mom had trouble waking up Larry since
it was the first day of school. She was
quiet at first and rubbed his arm. Then,
she rubbed his back and told him to get
up sternly. His alarm went off, and she
uncovered him. He got up.

. Larry wasn’t an early riser, so Mom had

trouble getting him to wake up on the
first day of school. Even though she
made his favorite cinnamon rolls, Larry
still wouldn’t get out of bed. So, she
uncovered him, and he got out of bed.




_ Math Day 10 fotterns

1. What number comes next in this 4. What is the missing number in this

pattern? : , ‘pattern?

6, 13, 20, 27, 81, 78,

s 712, 69

41 -
34
33.
28

77
75

73
66

O 0% p
oo P P

‘What is the next number in this 5. What is the missing nuniber in this
pattern? ‘ pattern?

g it -
- N S LR S
o

T ESIETIS,

td 46’ 49

!

46, 42, 38, 34, 30, . 34, 37, 40,

31
" 29
26
24

41
42
43
45

i e RATEL B
£ St s S
T e

g0 R p
5w p

i

AR BT

3. What is the rule for this pattern? 6. What is the rule for this pattern?

1,2, 4, 8, 16, 32 | | 27, 24, 21, 18, 15, 12
add 2

add 1
multiply by 3

subtract 3
subtract 2
add 3
divide by 3

digobrai G

G OF P
v o P

multiply by 2

o T 7. . Write the missing number in the pattern.

58, 64,

, 76, 82"




]

Name:

4 ' ? GG
\Whais the Matter? >— -

Tell whether each is a solid, liquid, of gas.

oo mr——

1. milk- _ 2. cookie -

3. oxygen- : | 4. fish -

5. pencil- 6. maple syrup -

7. shampoo - 8. carbon dioxide -
?. icecube - 10. .pcin’r -

11. oil - 12. salt -

13. water vapor-___ 14. gasoline -

15. helium - 16. sand -

Complete each sentence with the word solid, liquid, or gas.

A _ has a definite shape. [t does not take the shape of its container. It

also has a definite volume because it can be measured.

A _ does not have a definite shape. It takes the shape of its container. It

does have a definite volume because it can be measured.

A | does not have a definite shape. It sometimes takes the shape of its
container and sometimes flies freely around you. These particles are not connected to each other and

takes up whatever space is available.

Super Teacher Worksheets - www.superfeacherworksheets.com
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Name . Date"/\)ay //)
Geography of the Southeast

e Use the code below to help you complete some facts about the
geography of the Southeast.

ABCDEFGHI JKLMNOPQRSTUVWXY Z
1 2345678091011 1213141516 17 18 19 20 21 22 23 24 25 26

@ The '
15 11 5 6 5 14 15 11 5 5 19 231 13 16
covers parts of southern Georgia and northern Florida.

© The is a huge Florida wetland.
5 22 5 18 7 121 4 5 19

€ Where rivers drop from higher to lower land is called the

6 1 12 12 12 9 14 5

@ The

39 19 19 9 19 19 9 16 16 9

; is an area of Louisiana that has many bayous.
4 5 12 20 1 :

@ Wetland that has bushes and trees is a

19 23 1 13 16

(6] A is an area of high land at the foot
16 9 5 4 13 15 14 20

of mountains.

The Coastal Plain includes the Florid —
@ The Coas ain incudes fhe Horida 149 14 19 21 12 1

The lies alon
OThe — G555 T T35 2 1T 5 8

the inland coasts of Maryiand and Virginia.

@ The

is in Arkansas.

5 26 1 18 11 16 12 1 20 5

) A wetland where only short plants grow is a

13 1 18 19 8

Use after reading Chapter 6, Lesson 1, pages 176-181. Homework and Practice Book = 51



